
o 

UR58-028 



WERKZEUGAUSSTATTUNG,LASTKRAFTWAGEN 

LKW 2 t tmll gl, Fahrgestell 

Mat.Erh.-Stufe 2 

Vers.-Nr. 5180-12-175-4917 

bestehend aus: 

Nr. in StUck Beschreibung Teilekennzeichen Versorgerungs-Nr. 
Skizze zahl 

Au1bewahrungsbehälter 435 589 0298 00 5140-12-177-7934 
Vorhängeschloß 840 DIN 7465 5340-12-129-3078 

MSST 6014 

Handpumpe mit 435 589 0163 02 4320-12-176-7451 

2 Schläuchen 

Pumphebel 435 589 0163 11 5120-12-126-4892 

2 Hupzylinder 435 589 0163 01 3040-12-177-0553 

3 Kolbenrücksetzvorrichtung 000 589 5243 00 5120-12-176-7183 

Ate 3.9314-4950.3 

4 Bremsbelag-$chlagauszieher 001 589 4333 00 5120-12-176-7184 

Ale 3.9314-6100.3 

5 Kugelgelenkabzieher 406 589 0533 00 5120-12-176-6772 

6 DruckstOck 425 589 0134 00 5120-12-176-6773 

7 Stiftschlüsseleinsatz 001 589 6609 00 5120-12-158-5318 

Wille SW 14-3/4 

vierkant 

8 Abziehvorrichtung 355 589 0033 00 5120-12-126-5446 

Druckstück 355 589 0033 03 5120-12-176-7185 

2 Schraube M 8 x 85 5305-12-178-4625 

DIN 931-12K 

2 Schraube M 8 x 100 5305-12-178-4626 

DIN 931-12K 

2 Schraube M 10 x 70 5305-12-178-4627 

DIN 931-12K 

2 Schraube M 10x 120 5305-12-178-4628 

DIN 931-12K 

2 Sicherheitsstütze 435 589 0063 00 4910-12-176-6860 

außerhalb des 

Aufbewahrungskasten 


	werkzeug.pdf
	Foliennummer 1
	Foliennummer 2

	werkzeug_Seite_1
	werkzeug_Seite_2



